Best model for HELP J143239.411+330301.210 at z = 1.008 x2=1.31
OPTx2=1.55 IRx?=0.8 threshold (OPT IR)=16.07 [um]

Flux [m])y]

] : Stellar attenuated
102 3 S Stellar ullﬁat.tenuated
E . —— Dust emission
] . —— AGN emission
1 ] . = Model spectrum
10 E : ® Model fluxes
] : M oObserved fluxes
10° 5 :
-1] :
10 ENTh :
E S .
1072 3
] x{\
-3 ] 1] AN
1073 -
304 E
= 1 .
© 1 == (Obs-Mod)/Obs
S ]
S
n
] 0 - : __________________
bt ]
) ]
2 ]
S ]
o -1 CIGALE
()
(o'

10° 10! 102 103 104 10 A
Observed wavelength [um] *



